H & 0l & AHS B Ml A

chel: 2tollEX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
230l 18,3%,788 14,412,403 3,983,385
= 3,859,897
Jl 1,172,766
= 3,482,505
Al 9,710,620
= 170,000
Eo=rS (2L 2Z/235H0=) 5,639,336 5,093,894 545,442
) 804,964
= 373,459
Al 4,290,913
= 170,000
EGENE=] 4,171,100 3,967,414 203,686
Jl 804,964
= 373,459
Al 2,822,677
= 170,000
SEESNSEA 211,800 105,000 106,800
307 elztol & 211,800 105,000 106,800
02 2IZHBHAIHE £ 191,800 85,000 106,800
O3Y=T SSZAU It s TA(
SXE ZNH) 7,000,000 *14] 7,000
OGS AMEE L2t 40,000
—gF JIENE P2, o7, FeAY(EX
£ 80%) 50,000,000 *141x80/100 40,000
OYFEHES A4 U DAY (PEE B
o) 30,000,000& * 14 30,000
OYFHEND HDBHY L2H(2XE §
oH) 36,000,000 14! 36,000
Oe=ZaI| YHLEES 80)
26,000,000 *141x80/100 20,800
OHNegl=2 st=ii3] HE(2XE8 80%)
10,000, 0002 *141x80/100 8,000
OMZ HEX SNHY(BEE B
10,000, 00021 *14! 10,000
OAMORE BT AIRI(BEE 80)
50,000,000 *141x80/100 40,000
04 CIZHHAMAMH 2 & 20,000 20,000 0
Og= caele st=tizl(Bx2E )
20,000,000& x 14 20,000
Ss0=EH & ALK 458,520 376,850 81,670
301 EetE NS 7,200 4,050 3,150
11 #AIAHIXIE S 7,200 4,050 3,180
O2stHl=dAL ZAXF oHI 24
90,0003 20 *42] 7,200
307 elztol & 451,320 372,800 78,520




M 2s0l=1
I 2oi=dE (2 2/ 280s)
chel: 2tollEX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 160,600 106,600 54,000
OZ=0gead 85 MY XY (EXE 80%)
31,250,000 *141x80/100 25,000
OGFAAAER MY KR (EXES 80%)
25,000,000& *141%80/100 20,000
O30AY SEXJ(E2XE 80%)
13,750,000 *141+80/100 11,000
OG220t 2SXH(EXE 80%)
6,250,000 *141x80/100 5,000
O2stul=EHl AN (2XE 80%) 25,600
—gx2s
13,500,000 *14{+80/100 10,800
—SYUSAY
2,500,000 *141x80/100 2,000
—HZ=RI} 215 w2t
2,500,000& *141%80/100 2,000
— A2 Sote =S
2,500,000 *141+80/100 2,000
—=)22 2stEoX w2t
2,500,000 *141x80/100 2,000
—AF28 497 Y2
3,000,000& *141%80/100 2,400
~HFAE 157 L2
2,500,000 *141+80/100 2,000
—Ols=s S &2t
3,000,000 *141x80/100 2,400
OZF0E DEA LHEEXS FH)
40,000,000 *14] 40,000
OgFudlZASAE 28 NA(2XS 80%)
12,500,000 *14{+80/100 10,000
O2stil=H sotel 2SN (2XS 80%)
25,000,000 *141x80/100 20,000
OZFAIRS 2 NISAL(EES 80%)
5,000,000& *14{+80/100 4,000
03 LM EHE2SHIEX 55,000 50,000 5,000
Ogt=0E I=X3 2 XNA(2XE ZH)
55,000,000 *14{ 55,000
04 CIZHHAMAIH 2 & 235,720 216,200 19,520
OHESE Z3tA NA(2XE 80%)
25,000,000 *141x80/100 20,000
OgF H=HS=M(EX S 80%)
9,000,000& *141%80/100 7,200
ORMdbld AS2SH#A(ZEE 80%)
25,000,000 *121x80/100 20,000
OZSH0I=EH A X (EXE 80%) 48,120
—HNI138] AMAR IS HEBUES ST
< 5,000,000& *14!+80/100 4,000




EA: 230=
Mz 23l0=XE(SsY22/2510=)
& 2atol=XI (EEEE))
~ = olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
—240I2 H2UHEE Z& 2D
5,000,000 %1A1%80/100 4,000
—0lojatE2 BE2 /st SSHAF
5,000,000 x141%80/100 4,000
—AlRIS & 8090=2¢
3,750,000 *141%80/100 3,000
— X33 SHESH
3,750,000 *14A1%80/100 3,000
—SHo P(AQI#E BHE)
5,000,000 «141%80/100 4,000
~HETUNE S0t
5,000,000 *1A1%80/100 4,000
—2025 AI21D} el ISR A
5,000,000 %1A1%80/100 4,000
— A2 HGHE Al ©53]
1,750,000 x1A!1%80/100 1,400
—g2s olesa
2,500,000 *141%80/100 2,000
—AF0I=20I8 ™
2,500,000 *14A1%80/100 2,000
—GF=AIBIDIRA
7,500,000 «141%80/100 6,000
—G=HAEN==A
8,400,000 *1A1%80/100 6,720
Q2025 ¥ AE ZBIIRQM(EZE 80%)
30,000,000 x1A!%80/100 24,000
OHMI153 d==-=2% 0|8 nsd(EXES 80%)
8,750,000 x141%80/100 7,000
O&= USAER E2HUI(BEXZS 80%)
20,000,000 *1A!%80/100 16,000
O2025 L=0|=02HHI0I(B X2 80%)
25,000,000 x1A!1%80/100 20,000
O8=2 OIS0I&s22H(EXE 80%)
10,000,000« 141%80/100 8,000
OY9zxF0lz= HZAIM(BEXZE 80%)
20,000,000 *1A!%80/100 16,000
OB 'SLIS SO (BXS 80%)
18,750,000 141%80/100 15,000
O0gl0] HAZH '"QIAZFQ} QIALIQ|' (R
22)(EXE 8%)
25,000,000 *1A!%80/100 20,000
02025 =811} &t)ote AAISSUS(BXE
80%) 18,000,000 *141%80/100 14,400
Sslilsagsd & XJ 40,760 28,260 12,500
201 LBr2AH| 19,660 8,960 10,700
01 AFR22t2|H| 19,660 8,960 10,700
OPCY LS HE S R 2d AIRES
56,000& x10& 560
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SN SBHED
M o= E(2aH 22/ 25H0=)
chel: 2tollEX (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSPis g 223903 (2xs &%)
20,000,000& 14! 20,000
(D)L ESEN 41,020 41,020 0
& 9,040
Al 31,980
307 gIzHol 41,020 41,020 0
= 9,040
Al 31,980
02 QB AAIEER 41,020 41,020 0
O NEINSEMIA
41,020,000 * 14 41,020
& 9,040
Al 31,980
AU RSHA 80,000 80,000
307 QI2Hol 80,000 80,000
04 QIZHHAIAIE E X 80,000 80,000
ON393| AHIIH(EEE HNH)
80,000,000 *13] 80,000
(D)2ssudy 21,000 21,000 0
= 1,000
Al 20,000
307 212+01 A 21,000 21,000 0
& 1,000
Al 20,000
02 QIZHBAAIEE R 21,000 21,000 0
O=23stn 29 K&
10,500, 0002 27 2 21,000
& 1,000
Al 20,000
EAELIGE= ] 80,000 80,000 0
307 QIZt01 A 80,000 80,000
04 CIZHSHALAIRIE X 80,000 80,000
ORNI32s| AMM=R(ExE FH)
80,000,000 *12] 80,000
(D)5 nd2y 4,300 4,300 0
& 1,300
Al 3,000
307 QI2tol 4,300 4,300 0
= 1,300
Al 3,000
02 QIZHAAAIHE X 4,300 4,300 0
O=zud 29 4,300,000& * 14! 4,300
= 1,300
Al 3,000




M 2s0l=1
I 2oi=dE (2 2/ 280s)
chel: 2tollEX (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
B2 QAAES K 120,000 120,000
307 elztol & 120,000 120,000
02 2B YA E X 120,000 120,000
O2025 BO| QAAER} NRA(LES FHH)
120,000,000 *14] 120,000
NEE3 228 HE XA 470,000 470,000
307 @I2t0| & 470,000 470,000
02 QB AANEE R 470,000 470,000
OHIESHOI 2= AIZ9 eSOl St =
Ol HEA (XS HoH)
250,000,000 *14] 250,000
FAE = (Exs 3N
100,000,000& * 14| 100,000
0892 4022l X N (2ES F)
120,000,000 *14] 120,000
(F)SERstis2Z0I28A 1,156,960 1,064,700 92,260
Il 804,964
= 105,599
Al 246,397
307 el2to| & 1,156,960 1,064,700 92,260
) 804,964
= 105,599
Al 246,397
02 2B HAIAE & 1,156,960 1,064,700 92,260
OEE230122 A
1,156,960,000& » 14 1,156,960
Jl 804,964
== 105,599
Al 246,397
H==HHRLY 14,000 14,000 0
307 el2to| & 14,000 14,000
04 QIZIHAIAME 2 & 14,000 14,000
Od= SHHULE Hz(2X2 80%)
17,500, 0002 *141x80/100 14,000
()38 H=R5SUH3 48,600 58,200 9,600
[ 14,600
Al 34,000
307 glztol & 48,600 58,200 29,600
= 14,600
Al 34,000
02 2B YA E X 48,600 58,200 29,600
Osidd M=2SUal X SAIHLE
48,600,000 *14] 48,600
= 14,600
Al 34,000




SN SBHED
M =R E(2L2E/250=)
chel: 2tollEX (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
MI0ISED| S ALK A 10,450 10,450
307 212+01 A 10,450 10,450
04 QIZHHAIAIE E X 10,450 10,450
OGFAU=FD|UNE] HAIKIZ (BEZ 80%)
13,062,500 *141%80/100 10,450
(2)Z=s4dlopidoey 17,300 15,600 1,700
T 5,200
Al 12,100
307 QIZt01A 17,300 15,600 1,700
= 5,200
Al 12,100
02 QIZHBAAIEER 17,300 15,600 1,700
OZ=SHHI0PHHI0l 28 (ndE)
7,300,000& * 14! 7,300
& 2,200
Al 5,100
OZ=HUIoBHHI0l 2Z(H2UH)
10,000,000 * 14! 10,000
& 3,000
Al 7,000
Or=20l0801et &3 XI& 16,890 16,890 0
201 L2 AH| 15,000 15,000
03 At2ZH] 15,000 15,000
OO0=01087| etetsl 249
15,000,000 & 14| 15,000
301 LB F 1,890 1,890
11 HAIAHIXIAZ 1,890 1,890
OOt=0l10F0|18tea] &I (4|
90,0003 x7F 3 1,890
1480IEAHI 2 210,000 170,000 40,000
308 AXISHMSOIN 210,000 0 210,000
13 BI |2 SUICHEHE A E L EFALH] 210,000 0 210,000
O1M8OIEAFI fIE2E]
210,000,000 & 14! 210,000
(Z)E=S=ERHUIIFBHHIIIEEAY 16,200 18,000 21,800
& 4,860
Al 11,340
307 212+01™ 16,200 18,000 21,800
T 4,860
Al 11,340
02 QIZHBAAIEER 16,200 18,000 21,800
OZ=E=ERAEIZBHH =2 AL
& 16,200,000 14! 16,200
= 4,860




M 2s0l=1
I 2oi=dE (2 2/ 280s)
chel: 2tollEX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 11,340
(D) AHAEZR HSESHEA 26,700 30,000 A3,300
== 8,000
Al 18,700
307 212+01& 26,700 30,000 23,300
< 8,000
Al 18,700
04 QIZHHAMAIRH 2 & 26,700 30,000 A3,300
OLBRAR & SESADIEA]
26,700,000& *14] 26,700
= 8,000
Al 18,700
(C)UE 2SRRI Z A 48,400 54,000 25,600
== 14,500
Al 33,900
307 212+01& 48,400 54,000 25,600
< 14,500
Al 33,900
04 QIZHHAMAIRH 2 X5 48,400 54,000 /5,600
Og=da2at =X
48,400,000 * 14 48,400
= 14,500
Al 33,900
(Z)2SIESANI LA (F &) (HEALY) 200,000 200,000 0
== 80,000
Al 120,000
308 AFAIEHMSOIE 200,000 200,000 0
[ 80,000
Al 120,000
18 SISOt EAS A 200,000 200,000 0
OSSN LAS (02E)
200,000,000 » 14 200,000
= 80,000
Al 120,000
(DXL =stA2Est 181,290 141,290 40,000
s 11,290
= 170,000
307 @I2t01 & 181,290 141,290 40,000
[ 11,290
= 170,000
03 LM EE2SHIEX 181,290 141,290 40,000
OXg==td 244l XI&
181,290,000 14 181,290
= 11,290




M 2s0l=1
I 2oi=dE (2 2/ 280s)
chel: 2tollEX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| % 170,000
(D)RUEStn=RsI=3 18,000 18,000 0
== 4,500
Al 13,500
307 212+01& 18,000 18,000 0
< 4,500
Al 13,500
02 2IZHBHAIHE £ 18,000 18,000 0
OFuIuFs=3]
18,000,000& » 14 18,000
= 4,500
Al 13,500
(D)R/XZ S48z XA 81,000 97,000 216,000
== 24,300
Al 56,700
307 212+01& 81,000 97,000 16,000
< 24,300
Al 56,700
04 QIZHHAFAII X 81,000 97,000 16,000
O8N U2 N
81,000,000& » 14 81,000
= 24,300
Al 56,700
(D)EERY 24X 140,000 86,000 54,000
== 42,000
Al 98,000
307 212+01& 140,000 86,000 54,000
[ 42,000
Al 98,000
02 LB HAHE L 140,000 86,000 54,000
OmEsY 2(st2, MDA S)
140,000,000 *14] 140,000
= 42,000
Al 98,000
ST ES ALY 250,000 200,000 50,000
308 AtXIEHMSOIE 250,000 200,000 50,000
183 SIS U ZB XA AIE 250,000 200,000 50,000
O=2stol &= 365 =<
100,000,000 * 14! 100,000
O=2=e=0IH 2¢
75,000,000 x 14 75,000
O=2ztel g= e =29
25,000,000 * 14 25,000




SN SBHED
M =R E(2L2E/250=)
o 23tol=X (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Ollssgedst XId
50,000,000 14! 50,000
()84 23i0I=IHA XA 16,400 16,400
T 4,920
Al 11,480
308 AXISHMSOIA 16,400 16,400
& 4,920
Al 11,480
13 SI | 2ASHICHEH B AR L EFALH] 16,400 16,400
OHEEZ3M=HAXRA
16,400,000 14! 16,400
& 4,920
Al 11,480
(Z)GANSS L =ZRIA 26,900 26,900
& 8,000
Al 18,900
307 2I2+01™ 26,900 26,900
& 8,000
Al 18,900
04 QIZIHAIAISE B X 26,900 26,900
OMZ HEA SEMUA
26,900,000 14! 26,900
T 8,000
Al 18,900
(Z)E=SHUISFEZERA 12,500 12,500
& 3,750
Al 8,750
307 212+01™ 12,500 12,500
T 3,750
Al 8,750
02 QIZHBAAIEER 12,500 12,500
OZ=EHI2SEE XA
12,500,000 14! 12,500
= 3,750
Al 8,750
(2)ZA=T O0FR0 eAXE= U8 90,000 90,000
& 27,000
Al 63,000
201 B2 AY| 90,000 90,000
T 27,000
Al 63,000
03 HAr2 G| 90,000 90,000
OHMI18g HA=SZ 0I0IE0 eAXZ =3
90,000,000 14! 90,000




2X5: 250t
Mz 23l0=XE(SsY22/2510=)
&el: ZSo=XA (EEEE))
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
= 27,000
Al 63,000
Z2StAl A 22| 294 ,9% 270,980 24.016
NMEAAHIE 2 22| 294,996 270,980 24.016
101 2124d| 62,910 61,846 1,064
M IJIHHI2E2EsEE4 62,910 61,846 1,064
OMEZ HE ot € =278 29 224
80, 240&! x2H x4 38,837
OME2 HE ot & T2 29 224
TS5 4G 80,2403 x2H x5 8,345
OMES HE ot ¥ T2 29 22X
IR EINEY
80,240 x2S x 12 1,926
ONE& b2 29 ¢ otd2e 22
jelp=set 80,2401 x2S %20 3,210
OME & HiE24 89 U otM2e 22X
FE54G 80,2403 x2H x4 642
OMEZ HxE XY o=l
80,240 x5 x4 L x5 3| 8,024
OMER LR =g o=y
80, 2403 *3H 22 %4 3| 1,926
201 LBt AY| 213,086 194,134 18,952
01 AFR22t2|H| 85,246 78,064 7,182
OadH X7 50230, 0000H 1,500
O&EAl 228 32 700,000& * 14! 700
OTAIE AAMIH & AANEBES ME
1,000,000« 14! 1,000
Oodes =22 ME
1,000 %6,000582 6,000
OA B2 thH L B4 RIZ
60,0003 x10&H*53] 3,000
OBEF4I| 3012 7Y
14,0002 48+ A 128 672
O=233H&4A AKX 2L
20,0002 *118F A« 128 2,640
OMED| =M 25(75L) 7L
1,4702x100&+ 128 1,764
ONE& SA2e 2HER S A2F 2
150,000 % 10=+23| 3,000
OMEZ HIEE4 29 S3HE Xz
600,000& 24 A +1& 1,200
OHE tist24 29 "4 7l
1,000,000& =14 1,000
OZN7Y 500, 00024141 500
OM&E& =HO0IXl 22l
400,000 128 4 800




2A: 2o
M =R E(2L2E/250=)
Chel: 2stAlg el EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Odgat 30| dExs
35,0002 12& 420
OXNg2 30| 28 uA
45,0002 *43] 180
OME2 Hld ez 100,000& *12& 1,200
OMga 233 29 3,440
-89 M 60,000 23| 120
—2a9iAs LY NS
100,000 * 13 23| 2,600
—2Z9A¥ U224
120,000& *3E »23| 720
Oogd 8 It =5 20,0003+ 12& 240
OYHANAE RXNES =8
250,000& *13] 250
ORQIAIRID] MB 22yl
700,000 *13l 700
OSQIAHRID| 215X &
280,000& *34! 840
O&I|, JIHEH 2285 2L
100,000 *10&*23| 2,000
O+== AMdIE &l 2
2,000,000& * 14 2,000
OFI| ot™ze| U =42
700,000 <12 8,400
OsZIIANE sX2el
450,000 122 5,400
O2=HelAld SA2el CHEl
500,000& =12 6,000
OASAIL OHEBR| T8 442
450,000& * 12& 5,400
OMgat 34 S49H|
21,000,000 14| 21,000
2 S=29| 118,840 110,070 8,770
OdI| 22 5,600,000& = 12& 67,200
Ot 22 150,000& x 123 1,800
OSd 23 75,0003+ 12& 900
O&I| EIIEAZ 1,000,000 *13| 1,000
OMUBIIE 58 248
500,000 *x23| 1,000
OBtetE4s £TAA 242
80,0003 52| 400
OXlots =B =2
300,000& *13] 300
OMEaz A= 180& *3,600m x53] 3,240
ONMEat A vt & ™A
10,000,000 12l 10,000
OME2 28 HA 3,000,000 *13] 3,000




M 2s0l=1
T SH0|STS(SSHU/2oH0 D)
Chel: 2stAlg el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=s43 34 800,000& 22 1,600
Oigtz+ 293 34
800,000 62 4,800
Odute)] KX+
100,000 *52CH =12l 5,200
O&slx H4 200,000& %12 200
OAl" |XIE=(154 0lot)
2,500,000 43 10,000
OUXIEANHIA0IZEZ(BEAILBO0IER)
8,200,000 * 14 8,200
03 A2 I 9,000 6.000 3,000
ONE AL 2 1,500,000& 62 9,000
206 M=l 9,000 5,000 4,000
01 MZH| 9,000 5,000 4,000
Ogsal SMH s 7
100,000& *55+43] 2,000
ONMEZZd 2 M=l
1,000,000 *44] 4,000
ORIt 423 2
120,000& #55+53] 3,000
401 AlEHIZ 2018 10,000 10,000
01 Al&H| 10,000 10,000
O0telsay ael & FAE+
2,000,000& %52 10,000
g2t X 1,173,240 855,500 317,740
=22 29 A 1,173,240 855,500 317,740
207 AR 10,000 10,000 0
01 H7ESHI 10,000 10,000 0
Og==2t22 M 3FAR ot
10,000,000& * 14| 10,000
306 £= 1,163,240 845,500 317,740
01 2d= 1,163,240 845,500 317,740
Oog===223Mt =29
1,163,240,000& » 14} 1,163,240
22 Dl BE 9 2el(2a Y22 /25H0=) 2,911,708 197,673 2,714,035
= 670,000
s 835,000
Al 1,406,708
S AR 2,911,708 197,673 2,714,035
= 670,000
= 835,000
Al 1,406,708
EotRAE &2 163,668 128,753 24,915
101 e124d| 15,728 4,733 10,995
04 JIZtN2 2N S 2 15,728 4,733 10,995




SN SBED
a2 Ol 25 9 22 (2L 22 /250=)
ches 2 XEONE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Og=F Z2UHAAMES Ll A 2HSH At
BAHY o=y
80, 2402 52 %22 463 4,815
OOlMAR 22l U BAFY| 9y
80,2402 x1H =136 10,913
201 et 3| 27,440 28,520 1,080
01 At22t2l] 12,840 12,120 720
OdEtA D8 22| ESH|
35,0002 12 420
OIstnit S22 MHE L 2y
2,000 +2,500% 5,000
Ot 2t M3 A2+
100,000 8 #5652 4,000
O2stAtY 2t 20t A0
120,000 8 *33] 2,880
O =5 M& 60,0002 x3& 32 540
02 S3=4gl 14,600 16,400 1,800
O e AL =Xl22ll
5,000,000 *14 5,000
O&EMIDE M| - A5 A BE
350,000 * 122 4,200
OdEA N8 BHAAE A SE=
250,000 * 122 3,000
Og= 2HAAZSAHE cotv(SALEI]) 2
= 200,000& * 128 2,400
206 M=l 500 500
01 MHZH| 500 500
Og=F Z2UHAAMZS el A -5 At
ZdH 237 500,000 *14] 500
401 Al HIZ 2018 110,000 95,000 15,000
01 Al&HI 110,000 95,000 15,000
OS+BBN (PHTRISSAD) B2 U
o eI 20,000,000 * 14 20,000
O2+22X (fEXel25td2) Z&A
HYZ2H(ee) =4
70,000,000& *14] 70,000
OSEEsRL S 2AE 23|
20,000,000& * 14| 20,000
()EF2UYGAM2tel =S 1,340,000 0 1,340,000
= 670,000
[ 335,000
Al 335,000
401 Al HIZL 201 1,340,000 0 1,340,000
= 670,000
== 335,000
Al 335,000
01 Al&HI 1,340,000 0 1,340,000




SN SBED
a2 Ol 25 9 22 (2L 22 /250=)
ches 2 XEONE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Og=F ZUHAAMEs Nl EAIB2 =4 3
At 1,287,000,000& » 14 1,287,000
= 643,500
[ 321,750
Al 321,750
OgF 20122 A=z 234l €4
53,000,000& x 14 53,000
= 26,500
< 13,250
Al 13,250
(S)otet J|E2) ZH(THEALY) 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 AIEHIX 20 1,000,000 0 1,000,000
=S 500,000
Al 500,000
01 AlZ8| 1,000,000 0 1,000,000
O0Het &M ATIE A
1,000,000,000& *14] 1,000,000
< 500,000
Al 500,000
sdlzde =8 ZH Al 200,000 0 200,000
401 AlEHIZ 200,000 200,000
01 Al&H| 200,000 200,000
Osdizd H ZHIAE AlZ2X2A 8
E 100,000,000 *14] 100,000
O=4du= UMY SX2HRE
= 100,000,000 * 14! 100,000
g=d dS=3HH 2g 68,040 68,920 880
201 er23| 38,040 38,920 A880
01 At2tltl 1,000 1,000 0
Ost=sHed R4 250,000 ~4& 1,000
02 S3=4gl 37,040 37,920 A880
Ost=HgE2 &8I 23
60,0002 * 122 720
Ozt =
200,000 * 122 2,400
OXNSESMELX 28 &S
200,000 * 122 2,400
OHS=2 23
400,000+ 123 4,800
Ont=A
1,000,000& «12& 12,000
OO=4A
60,0003 * 12 720




M 2s0l=1
ZE: 2 O|Y HE U 22(SHLBT/23H0)2)
el 2 ARONY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ODISSARIER 520 RNz 89
400,000 12& 4,800
OUtESAIE 2 MI[otM 2| &9
1,000,000& *22] 2,000
ODISSATIER ASAIM HEBR2| 8
300,000 * 122 3,600
O2zt7at 22F 10 ROIBHIAIAE HH|
300,000 * 12 3,600
401 Al HIYL S CHYI 30,000 30,000
01 AlZ2H| 30,000 30,000
OHS2HME A M= SAH
10,000,000 x23] 20,000
ONSESMEEX AE FXZ=
2,500,000& 42 10,000
fE0ts 22 JIEdEE HHEd 24 150,000 180,000
401 Al HIZL 2018 150,000 150,000
01 Al&H| 150,000 150,000
ORH0IE 012 IIEFSE HoIHe X4
150,000,000 *14] 150,000
2IRAEN & MS(2AL2Z/25H) 9,713,362 8,986,022 727,340
= 3,189,897
Il 367,802
= 2,274,046
Al 3,881,617
RE2atmitatel 3,814,472 4,309,202 N494,730
= 291,100
Il 367,802
s 862,000
Al 2,293,570
EaRe 2& & 234 690,308 682,928 7,380
101 e124d| 14,444 14,184 260
M ORNZZ2NSE S 14,444 14,184 260
OS894 Z¢ BRFY| o2
80,2403 x2 & *x32 3000 2 14,444
201 er2&| 91,164 92,904 A1,740
01 At2teltl 22,600 30,100 AT,500
O=atmet St A3 S & we
20,0002 10094 2 2,000
OI2stmit Sg0F HERH =&
100,000 5 *93] 4,500
O=2zt74t MH2E 2o HA+g
70,0003 x2E+52] 700
O=2zt74t M2 22 FA0Y|
90,0002 x2& +53] 900
Oz=&8u FXNSi=
13,000,000 * 14! 13,000




2A: 235H0=
M 2IQUMBN L MS(2522Z/25H)
oelr RESstRLEL EER=E)
= XN x Ol & = (=] OH E“'—jE =2t
A -3 - S2A(3H) - MRAY - BLS (1;| Palgely Ol Abou Huns2
OO0IAEA 2! 8IAL =EIS QIBH JIEF AR 22
] 1,000,000 14! 1,000
OEAM7Y 500,000 %14l 500
2 Z22%H| 58,564 62,804 A4, 240
OSX23tR4 BI| - JIA AL 242
50,0009 %607 A 3,000
oR4oe 2ee3 15,880
—240I2 ot =4 M)
50,0002+ 122 600
—2H0I2 JI2E ®II1e2
700,000+ 122 8,400
—240I2 FIE SEA MRS
40,0004+ 122 480
—240I2 AYRS U MER4 WIS
450,000 122 5,400
— 2402 2H0] AT SE2AA
500,000 %23 1,000
ORH0I2 JIEAE SXI24H
500,0002 %123} 6,000
OS4UZAIE 2223 1,320
—STHAIAR & 0TV MR
80,0002+ 122 960
-2 M2 30,0002 * 122 360
OJIES DHOHOIHAIEAN Y Of2HE+AF CCTV(S
ALEINRS 70,0004+ 1224 840
O=E80 TIUHE SIEA U AgES ®)|
(o= 60,0002 122 720
O=AZ ®IIe3 10,0002 %12 120
OQISHMNEY SEAAIZ A3
500,0002 122 6,000
OSEA AZAIE ®IIQS
200,0002 122 2,400
OBIRE Ji2s ®)|e2
150,000 * 122 1,800
OHIZA AZAIE EI|1QZ
50,000+ 122 600
OSEA otAFHIIE =4 ®I|Q3
500,0002 * 122 6,000
OO0IAtA S 22|22 7,884
—5lEA M3 300,0002 122 3,600
—AYAEE SHRS
40,0002+ 1224 480
= 20,0002 122 240
—O0lAA Sl SHHAIAE AlRE
297,000+ 122 3,564
O23t24 =8 JIEHIE SXIE2:H]
1,000,000 *63] 6,000
03 BAL2 ] 10,000 0 10,000




M 2=
¥ EARMEN L MS(2L22/23H)
Rl REEsRAEL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OABta: =3 JIS-AL
10,000,000& * 14 10,000
206 M=l 600 600
01 M=4l 600 600
O2ztm4t =4 23 dHl =85+
50,000& * 128 600
207 AR 97,000 75,000 22,000
01 HESHI 97,000 75,000 22,000
OR3ra N3AHE & &8 - 2= A12E89
25,000,000& x24| 50,000
Os|gA 28R7= HIES
22,000,000 * 14 22,000
OXE=at74 a8l d=JIE &
10,000, 0003 »24! 20,000
ORHENIS HESLUD 2 AT 8
= 5,000,000 * 14 5,000
301 EtE N = 11,600 9,200 2,400
14 DBt 2 a3 11,600 9,200 2,400
OZst=at2e|Ql =g 8,400
—zus 522t zelol g
500,000« 1H* 122 6,000
—AFE URE 9 A e S
50,0002 x4 * 122 2,400
odIg= 220l =&
3,200,000& %14 3,200
307 @I2t0| & 29,000 23,540 5,460
02 QB AANEE R 29,000 23,540 5,460
OSHUZ AL XA (EXS 80%)
2,250,000& *23!%80/100 3,600
OL==ME AL NE(EXS 80%)
2,250,000 23] %80/100 3,600
O9JbtM S EAL XA (EXS 80%)
2,250,000& #2380/ 100 3,600
O=2d &t X3 (2X8 80%)
3,250,000& *12!%80/100 2,600
OOIMAR BHAN IR (2EE =)
2,600,000 %12 2,600
ORAMEH EAL XA (EXS 80%)
3,250,000& *15!%80/100 2,600
OdAIIEE 25 ¥ 2el(BEXE 80%)
10,000, 000& *121%80/100 8,000
Otfiz=&eaidl SH X2 (22X 80%)
1,500,000% %121 A*80/100 1,200
O=dUiz 22E Ml XA (2XE 80k)
1,500,000 *1JH A*80/100 1,200
401 AIEHIZ SR OHYI 444,500 467,500 /23,000
01 Al&HI 444,500 467,500 /23,000




M 2=
¥ EARMEN L MS(2L22/23H)
Rl REEsRAEL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O232t7at e 2] & FA2+
2,500,000 +87H 2 20,000
O2st7at 013 E 22| ¥ |2+
1,000,0002 %1000 A 10,000
OF4d0l= =38l &l Sx=
1,500,000 %52 7,500
O=2zt7at g2 At
300,000,000 * 14 300,000
OI22tmat =HIH| Al
60,000,000 * 14! 60,000
O &EHl E&Xel At
20,000,000 *14{ 20,000
OR &0t ASE=F MAHASA
22,000,000& x 14 22,000
O=R40ts AURCH2l Kl CHEr JMI=H(E=
BIEOI 0l &) 2,500,000 24 5,000
405 KHaHE SH 2,000 2,000
01 AL ESF=HI 2,000 2,000
OO0l 2O BT 2¢)
2,000,000 1CH 2,000
HIXIERA EZ & BT 200,200 300,000 299,800
402 2I2F X201 & 200,200 300,000 299,800
01 QI X2 AL E A (KEHITH) 200,200 300,000 99,800
OHIXNE R4 B=MB(EXE 70%)
286,000, 000& *141%70/100 200,200
(D) EXNEFAE ALY 986,000 632,000 354,000
== 493,000
Al 493,000
401 Al HIZL S 0HYI 986,000 632,000 364,000
< 493,000
Al 493,000
01 Al&H| 986,000 632,000 354,000
OEEAMMAL 2 4044 =101 3LD]
80,000,000& » 14 80,000
= 40,000
Al 40,000
Oty 24 o =uzy)
230,000,000 *14] 230,000
[ 115,000
Al 115,000
O7PenY oig B4 U FeEY|
220,000,000 * 14 220,000
= 110,000
Al 110,000
OLANA NSE=>
50,000,000& »14! 50,000




SN SBHHED
M. SIRAMEA L MS (2L 2Z/25H)
Rl REEsRAEL EER=E)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
= 25,000
Al 25,000
OSYFA FHFY|
140,000,000 * 14| 140,000
& 70,000
Al 70,000
OZJI&n sma P4
30,000,000& 14! 30,000
= 15,000
Al 15,000
Osatllel CISEHM 8 E=
186,000,000 * 14| 186,000
& 93,000
Al 93,000
OFNe H 50,000,000 14! 50,000
= 25,000
Al 25,000
(Z)HEMEEE=FUIAIY 160,000 0 160,000
& 60,000
Al 100,000
402 QI2HXH=20I ™ 160,000 0 160,000
& 60,000
Al 100,000
02 QIZIXIEMSEX(OIXMTHE) 160,000 0 160,000
OREAI HHEH H A= 2=
200,000,000& *14!%80/100 160,000
= 60,000
Al 100,000
(Z)23RAX20I1ESHIXIE 15,600 15,600 0
& 4,680
Al 10,920
307 CI2t0IA 15,600 15,600 0
& 4,680
Al 10,920
02 QB AMAIEE X 15,600 15,600 0
O & X201es K& 15,600
—NSHYES LI HAFAIZS]
8,600,000& 14! 8,600
= 2,580
Al 6,020
—IFEIFUBES
7,000,000 * 14 7,000
T 2,100
Al 4,900




M 2=

M SHRUBH O HS(2HLDY/2IT)

&l REEslsar2tl (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(D)EXFFASE2ALHI XA 34,660 34,330 330

= 10,400
Al 24,260
101 @12A4H| 33,660 33,330 330
= 10,100
Al 23,560
04 JIZtNZ22 XS 2+ 33,660 33,330 330
OIS Es=a S82228 K&
33,660,000 * 14! 33,660
== 10,100
Al 23,560
201 er23| 1,000 1,000 0
= 300
Al 700
01 At2teltl 1,000 1,000 0
O XS Est=d SEac 238 =23+
= 1,000,000 %14 1,000
= 300
Al 700
(2)ESAHE LAIAE 2= 80,800 0 80,800
= 40,400
S 12,120
Al 28,280
402 2I2F X201 & 80,800 0 80,800
= 40,400
= 12,120
Al 28,280
02 QI X2 AL E R (01X THE) 80,800 0 80,800
OSAAL STHAIAE 2=
101,000, 000& *141x80/100 80,800
= 40,400
= 12,120
Al 28,280
(RNEUNE SotFL SEANE(H=) 115,000 107,500 7,500
= 46,000
= 20,700
Al 48,300
307 elztol & 115,000 107,500 7,500
= 46,000
< 20,700
Al 48,300
02 LB HAHE L 115,000 107,500 7,500
OBDNARSSMNEBA (M)
65,000,000& *14] 65,000




SN SBHHED
M IERAMEN L MS (2L 2 /23HM)
&l REEslsar2tl (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 26,000
= 11,700
Al 27,300
OB DAL EAR (B F8)
0,000,000 * 14 50,000
= 20,000
& 9,000
Al 21,000
(Z2)MM=IIREE ALY 127,500 102,500 25,000
= 51,000
T 22,950
Al 53,550
307 gI2tol ™ 127,500 102,500 25,000
= 51,000
& 22,950
Al 53,550
02 QIZHEAAHE X 127,500 102,500 25,000
O=EYSNZMMAI (MU E HelDZ
g2 e =34) 77,500,000 *14] 77,500
= 31,000
& 13,950
Al 32,550
OZUHIAZ2SH | MMAIH (D= 2UHE2
AI2HOIEH) 50,000,000 14! 50,000
= 20,000
& 9,000
Al 21,000
(2)ESAME LTAIAE X2 49,000 66,400 A17,400
= 24,500
& 7,350
Al 17,150
401 A& B2 20| 49,000 66,400 A17,400
= 24,500
& 7,350
Al 17,150
01 Al&Hl 49,000 66,400 A17,400
OHSAIZ(SAAL, HIZAF, AN, SIEAL
AT UE)UMAIAL S 24
49,000,000 14! 49,000
= 24,500
& 7,350
Al 17,150
(2)=ItR 6 LTHAIE S22 XA 40,000 50,000 210,000
J| 28,000




M 2=
¥ EARMEN L MS(2L22/23H)
&l REEslsar2tl (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,600
Al 8,400
201 er23| 40,000 50,000 10,000
Jl 28,000
== 3,600
Al 8,400
2 S52g4l 40,000 50,000 10,000
O=JtS4E Teetd 2t (=ots et T
LTINS RXI2E]
40,000,000& *14] 40,000
Il 28,000
s 3,600
Al 8,400
(Z)E2AMARUADMARLAZE S 143,000 134,000 9,000
& 71,500
Al 71,500
201 er23 | 143,000 134,000 9,000
= 71,500
Al 71,500
2 ZZ2H| 143,000 34,000 9,000
OBRANASHADMHSL2LD
143,000,000 *14] 143,000
=S 71,500
Al 71,500
(2)EXERA HFSXIAAE 2= 30,000 0 30,000
< 15,000
Al 15,000
401 Al HIZL 2048 30,000 0 30,000
= 15,000
Al 15,000
01 Al&H| 30,000 0 30,000
ONESBHBLN HHANA A 1=
30,000,000 x14] 30,000
=S 15,000
Al 15,000
(RIMARLESAS 80,000 85,476 ADb,476
= 40,000
S 12,000
Al 28,000
307 @120l & 80,000 85,476 N5,476
= 40,000
= 12,000
Al 28,000
02 2IZHBYAIHE £ 80,000 85,476 NDb,476




SM: 28051
M RoRMEN Y MS (2L 22/ 23HH)
oelr RESstRLEL (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
ONIHIS L SEAIL(FAA
30,000,000& »14] 30,000
= 15,000
< 4,500
Al 10,500
ONIIRL BEAR(A2AE)
50,000,000& x 14 50,000
= 25,000
< 7,500
Al 17,500
(IMARLESLES ALY 90,400 24,500 65,900
= 45,200
< 13,560
Al 31,640
201 er23| 90,400 24,500 65,900
= 45,200
== 13,560
Al 31,640
02 3224l 90,400 24,500 65,900
ONAIRA EETE AL (BH2ME) 2
= 90,400,000& * 14| 90,400
= 45,200
== 13,560
Al 31,640
NAHSA 2l & &2 74,400 74,400 0
201 Eer23 | 9,400 9,400
2 352484l 9,400 9,400
OZMMASAZAIZE S A3
7,000,000 *14] 7,000
OZUNASFAZAIZE S S
2,400,000 %14 2,400
307 212t01& 65,000 65,000
02 QIRIHAANGE R 65,000 65,000
Oh=ME SHHAIS ADHEHI KIHIHE(E
xE ) 15,000,000 * 14| 15,000
Oa=ME HHIZA U LE(EXS 80%)
25,000,000 *141x80/100 20,000
OA=NRUMASl ADHEH] 28 SS(8
T8 FN) 30,000,000 *14! 30,000
HNEZSMEHXEL (TR SA BE) 130,000 307,341 A177,341
401 Al HIZL S 0HYI 130,000 307,341 AT77,341
01 A&l 130,000 304,948 A174,948
OHEZSHE LR SH=ATAHESHUTH
H &) 130,000,000& * 14| 130,000
(B)=20t4 AHZHIZ BRI & &8 679,604 741,708 262,104




M 2=
¥ EARMEN L MS(2L22/23H)
&l REEslsar2tl (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 339,802
=S 101,940
Al 237,862
101 21AH| 676,604 739,068 N\62,464
Jl 338,302
= 101,490
Al 236,812
04 JIZtN2 2N S 2+ 676,604 739,068 N\62,464
OZAAH (LA, FHA, SEA, 24
0r2) 33,830,200 x20& 676,604
Jl 338,302
= 101,490
Al 236,812
201 fer=2 3| 3,000 2,640 360
Il 1,500
= 450
Al 1,050
01 AtR2telHl 3,000 2,640 360
0282 o HEFY 7Y
150,000& x20H 3,000
Il 1,500
= 450
Al 1,050
(2)HEAZ 24 JH 88,000 0 88,000
= 44,000
= 13,200
Al 30,800
402 2I2FX+=01 & 88,000 0 88,000
= 44,000
< 13,200
Al 30,800
02 QIZHXHZ AL E (01X THE) 88,000 0 83,000
OHIZAF LIetd & H=g S22+
110,000, 0002 *141x80/100 88,000
= 44,000
[ 13,200
Al 30,800
SEFat2c 79,300 84,380 25,080
= 6,000
[ 23,450
Al 49,850
(Z)RERUERTSIZ 4,800 4,800 0
= 2,400
Al 2,400




M 2=
M RoRMEN Y MS (2L 22/23HH)
el RE L2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 4,800 4,800 0
= 2,400
Al 2,400
14 DBt 2 a=S 4,800 4,800 0
OSERMEST £ Xe
400,000 *1E* 1294 & 4,800
=S 2,400
Al 2,400
(E)RPEFASHA 2,500 2,500 0
< 1,250
Al 1,250
301 EtE NS 2,500 2,500 0
= 1,250
Al 1,250
14 IIEt2 83 2,500 2,500 0
OERL BIHAH| X
2,500,000& %14 2,500
= 1,250
Al 1,250
(E) =2 ISSARI 60,000 67,000 A7,000
[ 18,000
Al 42,000
307 glztol & 60,000 67,000 A7,000
= 18,000
Al 42,000
04 CIZHHAMAMH 2 & 60,000 67,000 AT7,000
Oxzd UKAAL XEA
60,000,000 * 14 60,000
= 18,000
Al 42,000
(2)0IHFPERML2SLHAG (BRAME M) 12,000 10,080 1,920
= 6,000
= 1,800
Al 4,200
201 get=3y| 12,000 10,080 1,920
= 6,000
= 1,800
Al 4,200
02 S3=4gl 12,000 10,080 1,920
Ost=2ME Heeld 2=54
12,000,000 * 14 12,000
= 6,000
= 1,800
Al 4,200




SN SBHHED
M 2oRMEN Y MS (2L 22/Z3HH)
&t 2alza 23| (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EstRot 2FH| 4,989,590 4,239,440 750,150
= 2,311,797
== 1,313,8%
Al 1,363,897
(B RAE (222 2|228d) 2,684,290 200,000 2,484,290
= 805,287
=S 939,501
Al 939,502
402 2I2F X201 & 2,684,290 200,000 2,484,290
= 805,287
= 939,501
Al 939,502
02 QI XHZ AL E R (01X THE) 2,684,290 200,000 2,484,290
OS&AL 28 21288 ZA(IX)
2,684,290,000& 14] 2,684,290
= 805,287
= 939,501
Al 939,502
(F)2HNERKUEH(HHIIES(AE) B=XIE) 68,300 34,700 33,600
= 47,810
= 10,245
Al 10,245
401 A& HIX R0 68,300 34,700 33,600
= 47,810
= 10,245
Al 10,245
01 Al&HI 68,300 34,700 33,600
Odd g2 (4l2) gA2e(IS SER
LEILIR) 15,000,000 * 14 15,000
= 10,500
S 2,250
Al 2,250
OF JIES(AI2) MAIZR(SE BHE2
LEILR) 15,800,000 x 14 15,800
= 11,060
= 2,370
Al 2,370
Ode JIgs(Al2) gA22(SS Stk
ZELR) 15,600,000 * 14 15,600
= 10,920
= 2,340
Al 2,340
Odd Jg=(42) 2LUHE(EE H&Ee
CEILISR) 7,300,000 14] 7,300




M 2=
M 2oRMEN Y MS (2L 22/Z3HH)
tel: 2atea 234 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,110
=S 1,095
Al 1,005
O JIg2(ME) 2LHE(SEE eHEel
LEILIR) 7,300,000 * 14 7,300
= 5,110
s 1,095
Al 1,095
O JIES(42) SUHY(ZE a2
ZELR) 7,300,000 +14] 7,300
= 5,110
== 1,095
Al 1,095
(F)2HNERAER(=S Hat D2 FHI) 50,000 86,000 236,000
= 35,000
== 7,500
Al 7,500
207 AR 50,000 50,000 0
= 35,000
= 7,500
Al 7,500
01 S| 50,000 50,000 0
OPEMEES NS 4
50,000,000& * 14! 50,000
= 35,000
= 7,500
Al 7,500
(F)2INERAE(RE0IS HAI2l £4) 580,000 114,230 465,770
= 406,000
= 87,000
Al 87,000
401 Al HIZ S 0HbI 580,000 114,230 465,770
= 406,000
= 87,000
Al 87,000
01 Al&H| 580,000 114,230 465,770
OREHE| =X e
500,000,000 x 14 500,000
= 360,000
= 75,000
Al 75,000
OMZHel 22X XN&E= g
80,000,000& »14! 80,000
= 56,000




M 2=
M 2oRMEN Y MS (2L 22/Z3HH)
tel: 2atea 234 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,000
Al 12,000
(B2 ERAE(FF 402 =ItH01d 2II) 220,000 220,000 0
= 154,000
< 33,000
Al 33,000
402 QI2F X201 & 220,000 220,000 0
= 154,000
== 33,000
Al 33,000
02 2IIHZ AN 2 X (01 TR 220,000 220,000 0
LR STELE]
220,000,000& x14] 220,000
= 154,000
== 33,000
Al 33,000
(2)2HNYRM2H(LL0IS OHSIIEAA FH| 2 400,000 2,200,000 1,800,000
Ab)
= 280,000
== 60,000
Al 60,000
401 AIEHIZ R 0HYI 400,000 2,200,000 1,800,000
= 280,000
=S 60,000
Al 60,000
01 A28l 400,000 2,192,080 21,792,080
OR40t2 0SIIEAIE HUISA
400,000,000& *14] 400,000
= 280,000
= 60,000
Al 60,000
SV 2SR AES(RE0S =XHE 2 HX)el 2 50,000 0 50,000
X O0He)
401 Al HIZL S 0HYI 50,000 50,000
01 Al&HI 50,000 50,000
OXMZHel 22X (2 - =|/KX)
50,000, 000& » 14 50,000
(B)2NEFAE(SEA LIEE EA 2=) 120,000 0 120,000
= 84,000
= 18,000
Al 18,000
401 Al HIZL 01| 120,000 0 120,000
= 84,000
< 18,000




A 2tz
M 2oRMEN Y MS (2L 22/Z3HH)
elr 2etRet 2434 (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 18,000
01 AlIZHI 120,000 120,000
OMEA LISt sima B4
120,000,000 * 14! 120,000
= 84,000
= 18,000
Al 18,000
(2)2NYRNEL(ZF 2H02 Y2 IIS 24 34,000 34,000
)
= 23,800
= 5,100
Al 5,100
401 Al HIZ S OHbI 34,000 34,000
= 23,800
= 5,100
Al 5,100
01 AlZH| 34,000 34,000
OR4d0ts Z=E s 2+ €
34,000,000 *14] 34,000
= 23,800
= 5,100
Al 5,100
(F)2NHANER/XVE(ELA S B2EIAL HE L F=H 100,000 100,000
&)
= 70,000
= 15,000
Al 15,000
402 2I2FX=01 & 100,000 100,000
= 70,000
& 15,000
Al 15,000
02 QI X2 AL EE(0IHTHE) 100,000 100,000
OEAAL Z22C2|AL HE & B3| JI=
a2 100,000,000 *14] 100,000
= 70,000
< 15,000
Al 15,000
(B2 ERAEH(RAA L2 2LIHE 89) 22,000 22,000
= 15,400
< 3,300
Al 3,300
401 Al HIZL 01| 22,000 22,000
= 15,400
== 3,300




M 2=
M 2oRMEN Y MS (2L 22/Z3HH)
tel: 2atea 234 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,300
01 AlZ2H| 22,000 22,000
OSAA otz DUEE B
22,000,000 *14! 22,000
= 15,400
= 3,300
Al 3,300
(2)2NERAES(LF 2HAAESe] =4) 361,000 361,000
= 180,500
= 90,250
Al 90,250
401 AIEHIX S0 361,000 361,000
= 180,500
= 90,250
Al 90,250
01 Al&H| 361,000 361,000
O7& 2tAt E4=FH| SAt
361,000,000 * 14 361,000
= 180,500
S 90,250
Al 90,250
(B2 ERAE(RAA HL2 SHHIIF3E ALY) 180,000 150,000
= 105,000
S 22,500
Al 22,500
402 QI”F X201 & 150,000 150,000
= 105,000
< 22,500
Al 22,500
02 QI TH2AILEE (01X THE) 150,000 150,000
OSAAL Q2 CHE)I=3t ALY
150,000,000 *14] 150,000
= 105,000
== 22,500
Al 22,500
()N RAE(FHA HE2 SIS 160,000 150,000
= 105,000
== 22,500
Al 22,500
402 2I2FX=201H 150,000 150,000
= 105,000
S 22,500
Al 22,500
02 RIENSASEEZ(0IETHR) 150,000 150,000
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2N sl
B SoRUPH U HS(2UBY/25T)
Rl MAISA 2E2L EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 105,000
02 SIZHH=E A 2 (OIRTHR) 500,000 46,000 455,000
ORSA B DYZ FY)
500,000,002 141 500,000
2 350,000
= 45,000
Al 105,000
(2IMASUSZBR|(FAA TAD F8 AES Bl 69,000 0 69,000
% MHISH MSEZ HEA)
2 48,300
= 6,210
Al 14,490
402 QIHRHE0IH 69,000 0 69,000
2 48,300
= 6,210
Al 14,490
02 SI2EXHEAIE 2 (OIRTHR) 69,000 0 69,000
ORAA TAG T8t ES FH| L SHis
ME 2 A 69,000,002 141 69,000
2 48,300
= 6,210
Al 14,490
(RIMHRERZEDR|(ASHE ZLFH]) 66,000 0 66,000
2 46,200
= 5,940
Al 13,860
401 AIEBIL=Th| 66,000 0 66,000
2 46,200
= 5,940
Al 13,860
o1 Alt 66,000 0 66,000
OA4AE FAME L JHIBA 24
66.000, 0002 %14 66,000
2 46,200
= 5,940
Al 13,860
Y 2AFHI(23t01=0) (OI1EHIIE 131,382 134,814 A3,432
EET 31,382 134,814 23,43
SIEET 131,382 134,814 23,43
201 2er2 | 36,642 34,79 1,848
01 AlR 22l 3,642 34,7% 1,848
OZMEX 7 (M)
20,0002 %228 Ax 122 5,280
OS20HAY| 9, 00021 +741x22%4 « 122 16,632




M 2s0l=1
T BPSSAL|(SH0IZD) OIEHIIEN
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooggte=g 100,000& « 12& 1,200
OAnE EA-7HI 50,0002 12 600
Ol =&l 10,290
—SADI(UE) =2l
1,000,000 *1.5CH 1,500
—IElE| +2
100,000& *5CH*50/100 250
—SAI B 200,000 52| *1.5CH 1,500
—DRIED|(2) £
200,000 52| +5CH 5,000
—IElEDI(Zd) Ed
200,000 +52]*1CH 1,000
—PC ==l 100, 0002 *22CH*20/100 440
—JIEt =28l 50,0002 122 600
OJIEH At 2t2IH]
10,0003 »22E~ 123 2,640
202 04l 81,840 87,120 25,280
01 2LHoIH 81,840 87,120 ~\5,280
OZLH0AHI 20,0003 x22Z* 122 x 12 63,360
OZ2|0l 120,000 x22H+7 18,480
203 =4l 7,500 7,500
01 J122ggR=a| 3,300 3,300
O2t=R=E J|[22gdE =2
3,300,000& x1H 3,300
M EA2HER=AH 4,200 4,200 0
ORNEgE =AY
350,000+ 12 4,200
204 e A 5,400 5,400
01 AHI AR+ 5,400 5,400
OZUZYR+-HBH(2S=X=E)
350,000« 1H* 122 4,200
OXUSYR+HBH|(2SH0 = E)
100,003 x1& =123 1,200




